Math 160 — Prof. Beydler

Homework Solutions for Packet #1
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1. Suppose f(x) = x? + 1. Fi
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a) Find f(1). N
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b) Find £(2).
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¢) Find £ (—2).
f(-2)=[2]

d) Find the domain of f.
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and simplify by canceling the factor of h.
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4. Suppose f(x) =

a) Find f(=1), £(0), f(1), f(2), f3), f(4).
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b) Find the domain of f.
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6. Suppose f(x) = x? + x.
a) Find —f(x+hz_f(x)

o(6,2)0(2,2] )

and simplify by canceling the factor of h.
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b) Find the domain of f.

(- o0, o) (or R)
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all rea\ humbers
8. Suppose f(x) = 2

x+1
a) Find flath)=f () and simplify by canceling the factor of h.
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b) Find the domain of f.

,jx X#'\ij (oR (—aoJ-—l)U(-lJoO))
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10. S =1{ X
uppose f(x) {i/} x> —1

a) Find £(=2), f(=1), f (=3), F(0), (27).
|
f(2) =3 ==
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(o)=Y =[]
fan)= 11 =[5

b) Find the domain of f.
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